== A
N = 0 & AF S 99 N A
20169 = S0l & LBHSH A=
SN ASD
MM F=H H L
S FHEIMLASY (chel & 9l)
- _ _ RE]
SA BB (3H) - NRAY - B Ol &F o4 %@ﬁ HRE2
A= 7,783,403 6,948,796 834,607
= 3,224,198
Xl 705,000
Jl 184,000
& 495,025
Al 3,175,180
F=)1 & A 1,445,000 614,000 831,000
Xl 705,000
Dl 184,000
= 92,000
Al 464,000
ZEHEHIMNE ALY 1,445,000 614,000 831,000
Xl 705,000
Dl 184,000
o 92,000
Al 464,000
Bl Y ALY 40,000 30,000 10,000
402 QI2b X2 0| & 40,000 30,000 10,000
01 QIZEXIE2AIE 2 X 40,000 30,000 10,000
OEAFARF SHIMSEAS 40,000
SHO0lE XNE 3,000,000 x10= 30,000
IR NE=S 1,000,000& *10= 10,000
BIE A A (EX) 150,000 200,000 A 50,000
Xl 105,000
Al 45,000
402 SI2vXHE0| ™ 150,000 200,000 A 50,000
Xl 105,000
Al 45,000
01 QIZEXIE2AIE 2 X 150,000 200,000 A 50,000
OsE8IEEY AL 150,000
N 105,000
Al 45,000
HAES LS HESANY(EX) 368,000 384,000 A 16,000
J| 184,000
Al 184,000
402 SI2FXHE0| & 368,000 384,000 A 16,000
J| 184,000
Al 184,000
02 I 2HCH & AL HI 368,000 384,000 A 16,000
ONASE LEZe N2
4,000,000 x92= 368,000
J| 184,000
Al 184,000
BIEEE pgt AWFTEHAILA(ERX) 30,000 0 30,000
& 15,000
Al 15,000




EM: A
M F=H EF MM
Sl EINE YW LAY CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
402 BI2FX=01 M 30,000 0 30,000
< 15,000
Al 15,000
01 B2t 2 AL E X 30,000 0 30,000
OBIZES vat YUFLAY
10,000, 000& 3= 30,000
< 15,000
Al 15,000
SHE FHAXYG MEHA HEAMG(EBX) 857,000 0 857,000
Xl 600,000
< 77,000
Al 180,000
403 UHXSHHSA=0l& 857,000 0 857,000
Xl 600,000
< 77,000
Al 180,000
02 I 2S0ICHEt A== OH & A H 857,000 0 857,000
OFdH Hael s& FAXND ME0HA HE
A 857,000
Xl 600,000
< 77,000
Al 180,000
SSTHIXIH 574,220 284,220 290,000
SSTHHIW 2328 574,220 284,220 290,000
SSTEHHIH SSANEE 22X 492,320 202,320 290,000
201 Let24d] 2,320 2,320 0
01 At 2teltl 2,320 2,320 0
oz2g+g 1,120
DU AANSIEE BHLT
70,0003 »x2H 140
ELIAEH Mo HFAE
70,0003 *23| x7H 980
OZA=Z 1,200
SSTEHONMZALLL DWEUAME
400,000& »23] 800
Y=IUHESS 29 & FlusE TAR
400,000& *13] 400
402 RIZ2EX20l ™ 490,000 200,000 290,000
01 It =2 AL B X 490,000 200,000 290,000
OZESFe ZSAL UMY
20,000,000& =104 €+ X 200,000
OUOIE =X& EE2d &X 10,000
OSHOLIIE XIgH&E G 2E2At 15,000
O 8S(SAIOIE) ZHAEE XA (
=QIE O 0l &) 20,000




SN AR
Hu: DEFUBAIY
Sl DEFUCTIY BAXH (B9 ®R)
5 - 4
A FB B (B) - HRAY - BES 0l &t o il Bl RE2
O=S0HIE =8 g4 FHH| 20,000
OZ&E HIAIEOIIIE HEol=0IH JIsEd 10,000
O2F ANIGOHIHE 24> 15,000
O3 148 3 SOIIHE SEZA 30,000
O2d GAIXNOIIE & HHISA 20,000
O&W ANIGIXNOIIE SHFMEAL (=) 30,000
OZ2o0I=0tIE X&ENH 220 X SA 30,000
O SOIE BT 2 &EXSAt 20,000
OEsotItE 22 & &l 10,000
OSHEOHIIE M| HotE &X 10,000
ORHY3X0LIHE XNot==X& ZHHIA 20,000
OSRIY5X0HIE AAFRE B4 30,000
HASHE AUESS 20K NBAY 81,900 81,900 0
501 X2 81,900 81,900 0
01 Iz2tsXt= 81,900 81,900 0
OMASHES YdUHESZS ROIX XA (Al
2¢3) 6,825,000 125 81,900
A T A0 =4 219,431 102,107 117,324
SN s ¢ A=x2e 196, 164 78,840 117,324
ZZ0NsE Fdl & 2l 53,072 4,440 48,632
201 2Bt | 9,472 840 8,632
01 At 22l 840 840 0
Ozilszelydoas 48+
70,0003 43| +3YH 840
02 =24l 8,632 0 8,632
OZl=2 g B8= S 1,223
28 = 1,000, 000& = 1CH 1,000
RPN 100, 000& = 1CH 100
SN RES 100,000 = 1CH 100
B A2 23,0003 «1CH 23
OXrg & et 7,409,000 *1CH 7,409
202 (44l 3,600 3,600 0
01 S LHOIYI 3,600 3,600 0
O=22d20s g42=4 3,600
401 Al HI R 201 I 40,000 0 40,000
01 Al&H] 40,000 0 40,000
OB =2AHAN A& 2 SR 2c
1,000, 0003 *20H 2~ 20,000
OSgX=2E A& 2 FH]
500, 000& *400H 2~ 20,000
A=Y AN 143,092 74,400 68,692




A=
st TAOE =4
S2ais ¥ A=x21

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
201 ¢er24| 106,792 39,600 67,192
01 At 22l 106,792 39,600 67,192
OAEA SERZA ASO et
340,765& 2504 85,192
Oget=gHl 16,000
oz2g+g 5,600
HAERARE HFA&H 70,0003 *43| x11H 3,080
AE LA™ (DBY) BA LY
70,0003 93| 4 H 2,520
202 044l 31,800 31,800 0
01 = LH o4 1l 31,800 31,800 0
OH=1 2= 29,400
OAHAEZA 2582 =& 2,400
405 XHoHF S HI 4,500 0 4,500
01 et EZFH S 4,500 0 4,500
Oodx =¢ 4,500
sS¢yd 250,000& *6H 1,500
2 150,0007H 204 3,000
SADZ & SSANES FUAY 23,267 23,267 0
SAOZ 2 B3AES FHl .22 23,267 23,267 0
201 L4l 3,267 3,267 0
02 =224l 3,267 3,267 0
OLBtE8E(Xlcldh WAIS) &3 204 1,633
2z 6,290 *3KWx1. 1% 128 20 & 499
INE=F= 85. 9@ *500KWH=* 1. 1x 123 »20H A& 1,134
ONLESeH4IL s|LHHE MIIRS 817
ez 6,290 x3KWx1. 1x12& 250
. AB= 85.9& «500KWH* 1. 1x 122 567
088 IC e+ =28 HIRS 817
=2z 6,290 «3KWx1. 1+ 128 250
INE=F= 85.9& *500KWH* 1. 1x12& 567
401 Al HI L2 THHI 20,000 20,000 0
01 A& HI 20,000 20,000 0
OEAO2 HHl & 22l 10,000
O33A&= EH & 22 10,000
GIHX el 2 B A 1,505,304 1,364,804 140,500
2SN & RA2 1,505,304 1,364,804 140,500
2s £33 ¥ |X2e 1,257,284 1,116,784 140,500
201 2Bt Ayl 678,884 608,884 70,000
01 AP 2teltl 1,200 1,200 0




SN
HE: LK oE Y B

©9: JteSEx ¥ R

=1

il

H
el

o

s}

SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
o=l 1,200
II2sE4+d 1= 2¢ 300,000& x4 1,200
02 3524l 677,684 607,684 70,000
OFHs dMIIR3 410,000
OFs MIIR2 185,000
OFgHYE &2 7,328
OJgs MIIHNHEE =25 17,510
=z 44,2003 * 11000 & 4,862
dE= 7,4403 x1,700S 12,648
OJgs XiHED Ro1FH 29|
150,000& *12& 1,800
OJl2s ZelE2 08 Sl 29|
300,000& x12& 3,600
OJlz2s E4xy 282 S 2,446
== 1,000,000& *2CH 2,000
INE=PNU. | 100, 000& *2CH 200
SHIFMERE2 100,000& *2CH 200
CBIIE MRS 23,000& *2[H 46
OJ2s Mg SX22lbl 150, 000& *2002H 30,000
O XA | 20,000
h2sE2Xgy A 228l
5,000,000& =2CH 10,000
III2EELIE Id e A2l
5,000,000& *2CH 10,000
206 M = Hl 135,400 127,900 7,500
01 & bl 135,400 127,900 7,500
OoJzs B8 UM 2L 135,400
AsEEI| 88,000& 6004 52,800
AT PNg= ey 33,000& *=1,500H 49,500
LIES 2 X (150W) 20,000& *300H 6,000
LIE S 2 = (250W) 23,000 * 1004 2,300
LIESotE I (150W) 28,000& x200S 5,600
LFE & oHA D] (250W) 33,000& x100S 3,300
HOl= 1,200& *2,000m 2,400
S™E XD 10,000& + 1504 1,500
XFEHD| BFA 5,000& *5004 2,500
HE 5,000& 2004 1,000
SESAHEOrE = 40,000& =254 1,000
LEDEH = (100W) 150,000& *50 4 7,500
401 Al HIL 20| 443,000 288,000 155,000
01 A& bl 439,202 285,390 153,812
OsZEIIZ2S(4IIES) a4
150,000, 000& *99.28% 148,920
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2N ASD

H: WX ™ L 23 A
SR JIRSHEX ¥ sX2el (e &)
- - . =]
SA-EHH .o (3H) - NEAY - BAS 0l &t il HZS2
OZAJIZES(LEDS) Al&
100,000, 000& *99. 10% 99,100
OkL&:itg& AU 60,000, 000& *99. 10% 59,460
Oftzs = 70,000,000& *99. 10% 69,370
Ox4d ots Jdizs &Xl 3,000
OdUH JI28 AX (2200 AH)
10,000, 000& *98.92% 9,892
OIIdU 2SS ME Y Hy|
50,000, 000& *98.92% 49,460
03 Al& 20l 3,798 2,610 1,188
OsEII2S(#40ES) d4d
150,000, 000& *0.72% 1,080
OZAJIZS(LEDS) & A
100,000, 000& *0.90% 900
OLZ:oitgs 3| 60,000, 000& *0.90% 540
OFftz2s 8= 70,000,000& *0.90% 630
OdUH JI28 AX(F2 00l AH)
10,000, 000& *1.08% 108
OIIdU JI2S A& Y Hy|
0,000, 000& *1.08% 540
25 Xl Z 2 (ESCO) At Hl 4fst 238,020 238,020 0
402 QI2t X201 A 238,020 238,020 0
02 QI2HCHSH A HI 238,020 238,020 0
OJ2E Ol X & 2 (ESCO)Ar I AL &t
19,835,000& = 12& 238,020
ZEHE AE SR 10,000 10,000 0
401 Al B 20| 10,000 10,000 0
01 A& HI 10,000 10,000 0
O ZEHE M2 S X2l (welcome to namwon
) 6,000,000& * 14 6,000
O Z8HY M2 EZ)| 8o & o) 3§
Hl 400,000& *x10& 4,000
F=HZ O 4,030,248 4,532,465 AB02,217
= 3,224,198
T 403,025
Al 403,025
FH2¢ 4,030,248 4,532,465 AB02,217
= 3,224,198
= 403,025
Al 403,025
FAHASH(EX) 4,030,248 4,532,465 AB02,217
= 3,224,198
= 403,025
Al 403,025
301 et A3 3,125,548 4,532,465 N 1,406,917




SN AR
B3 FHZ0f
SE ST (er:@e)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
= 2,500,438
< 312,555
Al 312,555
01 MEI2BZE 05z 3,125,548 4,532,465 A 1,406,917
F=HEN 3,125,548
= 2,500,438
< 312,555
Al 312,555
403 MHXISHHE X201 H 904,700 0 904,700
= 723,760
< 90,470
Al 90,470
02 S 2SOl CHEH At 2 X CH & AF & I 904,700 0 904,700
OFAHZO 904,700
= 723,760
< 90,470
Al 90,470
HY2AZH (A=) 9,200 6,200 3,000
Jl=234l 9,200 6,200 3,000
Jl23Hl 9,200 6,200 3,000
201 £B-2dH| 2,000 2,000 0
01 At 22l 2,000 2,000 0
O= 2l 2,000
203 IR =&l 7,200 4,200 3,000
03 A F=AH S XY 3,000 0 3,000
OANHEA J2FXH| 3,000
04 ENSSIHRF=LHI 4,200 4,200 0
ORA2EIRFAHI 350,000& »12& 4,200




